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








       
      

Alexandre Guilmant (1837-1911)
arr. Francis Roads

Scherzo from Organ Sonata No. 5 in C minor Opus 80

         
   

         
   

          
          

   

          
   


     

      


     
   

                      

 
  

           

    
 

     

              

        

    






  

    
  


  

   
Play small notes if no contrabassoon.





   



  

        

         

              

                 

                 

         

       


                        

                   
     

                  

           
              

                    

         
                        

         


       
            

               





        

                         
      

                                

   
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p

p

p

p

p

p

      
 

  


  
 

    
 

     
     

 




        
    
    
            






           

   
p

     

  

   

      





  


                      

                   

                          

                        

                       

        

                              

                              

             

                            

   

                      
              

               

                  

                  
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p cresc.

p p

p p

mf p p cresc.

p p cresc.

p p
cresc.

          

    

   

   

         

          


p

  
     





         

   

         

      

   

     


 




     




    

                 

                   

             


    

   
                  

                 

                              
       

                    

                 

         

                               

             
       
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f f`

D75

f f`
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f`
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87

mf f`

mf f`

mf
f`

mf
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mf f`
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          
          


           


            
           
            
 





       

 





       
          

                 

    
  

        

       
 

      

          


          

           


      


      

         

                             

                 

             

            

              

            


                                 

        
                       



                  

          

                            

                 
          

                  


       
      

       







   
                         

                              
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ff con fuoco

E
99

ff con fuoco

ff con fuoco

ff con fuoco

ff con fuoco

ff con fuoco

ff con fuoco

ff con fuoco

ff con fuoco
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C A

Cl 1
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Hn 1

Hn 2

Bn 1

Bn 2

Cbn

ff sempre 

F
112

ff sempre 

ff sempre 

ff sempre 

ff sempre 

ff sempre 

ff sempre 

ff sempre 

ff sempre 

 

















          

    
    

   


         

  

           

               

  


    

 

 

                       

                         

              



        

                         

                         

                     
     

  
                       

                     
     

  
                     

     
  

                          

                                 

                                
  

                

                      

                   
     

  
        

          

  


    
 

 
  

     
 

     

                     
 

     
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138

pp

pp

pp

pp

pp

pp

pp


             

             



           

              

                


    

          


 


  




 

   


  
  

     

         

    

  

 

      

      

    

                      

                    
 

    
                    

                       

                 

     
     

              
           

      
              

     
     

     
      




     


 

     
     

          
     

  

            

    

  
             
                  

                

        

                       

              
            

 
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pp sempre

pp sempre

pp sempre

pp sempre

pp sempre

Ob

C A

Cl 1

Cl 2

Hn 1

Hn 2

Bn 1

Bn 2

H
166

Ob

C A

Cl 1

Cl 2

Hn 1

Hn 2

Bn 1

Bn 2
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   
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  
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  
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





    

         

 

     

       

    



       



    

        

      

       

                

       

                 

               

               

               

                             

        
    

                      

               

               

                

    

             

                          

                    

            
                 

         

  
                

            

       
                       

                    
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









































Ob

C A

Cl 1

Cl 2

Hn 1

Hn 2

Bn 1

Bn 2

pp sempre

194

espress.

pp sempre

pp sempre

pp sempre

pp sempre pp

pp sempre

pp sempre

Ob

C A

Cl 1

Cl 2

Hn 1

Hn 2

Bn 1

Bn 2

Cbn

f`

I
209

f` mf

f` mf

f` mf

f`

f`

f` mf

f` mf

f`

Ob

C A

Cl 1

Cl 2

Bn 1

Bn 2

mf

222

           

        

     




          

    

     

         

       

                

          
  

            
  

             
             

  

             
  

   
     

         
   

     
  

     

 

     




    

     

          

         

      

              

           

                  

     
                  

         

             

                 

              

         

       


                           

                       
    

                  

 

               

 

             


                

      
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


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
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

























Ob

C A

Cl 1

Cl 2

Bn 1

Bn 2

[Meno mosso]J
228

dim.

pp

dim.

dim.

dim.

Ob

Cl 1

pp

236

Ob

C A

Cl 1

Cl 2

247

pp

pp

Ob

Cl 2

257

Ob

C A

Cl 1

Cl 2

Bn 1

Bn 2

pp sempre

K
268

  pp sempre

pp sempre
pp sempre

  pp sempre

  pp sempre

      

   

     

  

  

  

      
                      

                                      


 
    




                  

                                

           

         

                                                   

                                
          

       
                     

               

        
       

 
       

        

 
                               

 

                    

        
 

     

           

        

     
      

             

                          

                                                            

 
                                          

                                     

                                   

 

                                                              

                                    

              


  




       
              

                      

        

                    

                               

                           
         



             
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p

pp p

p

p

Ob

C A

Cl 1

Cl 2

Hn 1
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Bn 1

Bn 2

Cbn

f`

[Allegro h.= 66 (Tempo I)]L
290

f` mf

f` mf

f` mf

f`
mf

f`

f` mf

f` mf

f`

Ob

C A

Cl 1

Cl 2

Hn 1

Hn 2

Bn 1

Bn 2

Cbn

f` mf

M
303

f`

f` mf

f`

mf

f` mf

f`
mf

f`

mf

f` mf

            

                                         


     
              

          
   


                    

   

               

         
    

         
    

           
          

   

          
    


     

      


     
    

         

   
        

   
 

         


       



         

   





    

    
  


 

   




   



  

   

             

                                                     

              
              

                 
    

   
    

         

                  

                   

                   
          
       



                        
 

                   
       

                  

                        

                         

       
            

       


       
                    

        





  

                                     
 

                               
 

             




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































Ob

C A

Cl 1

Cl 2

Hn 1

Hn 2

Bn 1

Bn 2

Cbn

p cresc.

315

p cresc.

p cresc.

mf p cresc.

p cresc.

p cresc.

p cresc.

p cresc.

Ob

C A

Cl 1

Cl 2

Hn 1

Hn 2

Bn 1

Bn 2

Cbn

f

327

f

f

f

f

f

f

f

f

 

         

  

   

   

         








     



  

  

  






                                     

      

                           

                 
                   

     
                       

        
              

                       

               

     

               

        

            

            

                     
  

      
                 

      
                 
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















Ob

C A

Cl 1

Cl 2

Hn 1

Hn 2

Bn 1

Bn 2

Cbn

ff`

N
336

ff`

ff

ff

ff`

ff`

ff`

ff

ff

 
   

     




  
    

  
   



    

    


 




 

      

      
5'58.8"

           
           

                            

                
 

 
 




 
 

                            

            

             

                     

                 
 

 


             

 
 
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